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1. Solve the triangle ABC' if: f = 60", Y = 15
Solution. Wa know that o+ f +y= 180°

i

Now a = 180-B-vy = 180' - 60" —15" = 10

ol
By Law of Sines : —%— _ . 0 L
3 L pk Sines sin e sin f S “sin B
sin 105" -~ 0.9659 ;
== V’Erm‘:' = w]ﬁ, 08660~ V6 % 11153 = 2.731.
. e _ b gin
Again, siny 7 sinp S # B ]

"sin [5‘

sin 15" 0.2588 .
= 'Vré 'sin 60° = 'JE Wﬁﬂ = V6 x 02089 = 0.732

Hence \—(1= 105" , a= 273 ,¢= 0.73—|

B3B8 , Y = 8, o = 835

golution. We know that o+ p +y= 180"
Now @ = 180-B-y = 180" ~52 - 89" 35 - = 38" 25

By Law of Sines : Ly _b = b = q M
sina  sinf sin o
sin 52° — (.7880 . :
= 89.35.51.n 38 95 = \{6 052 = 80.35x 1.268 = 11331
3 b _ e e sin y i
Agaln) sinﬁ = o ¥ = ¢ = b i B
= 11381 sin 89" 35 999

0.
Sem B T 113.31. 0788 = 113.31x 1269 = 14379

Hence | @=88"25', b = 113.31,c= 143.79 |

3. b= 125 . ¥ ="53' > o = 4T
Solution. We know that o+ B +y= 180"
Now B = 180-c—7 = 180°—47' —53 = 8&0'

By Law of Sines : = S

sin o - sin 47" 0.731
= a = b

= By u 125m - 125.@ = 125x 0742= 93
b
3 c
Again, siny - smp N —_——
sin y sin 53" 5 - -
= c = b'm = 152m@ = 125‘-0_—.935 = 125 x 0811 10l

Hence | B=80" ,a= 93,e= 101
4 =161 , ‘o = 46, y = W
Solution. We know that o+ B+vy=180° i
Now B = 180—a—y = 180°~42'45_74'32' = 62749
b o B gk " sin
Now m T oginy b ¢ Siny
gin 62" 43 0895

= 161xmy 3z = Wlxggeer = 161x 092 = 1485

5, & = ve.
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. b g sin
Again: sin o = m “ sinfl
sin 42°.45° 0678 e " "_— _E
= MBS x Ty = Mg = MBR 0763 1L

Heuce | B=02 48 L a= 11.34,5 = 1485 |

5. a=53 , B = 8886 , 7 = 3154
Solution, We know that o+ i +y= 180"
“Now &t = 180—P—y = 180" —88 36 231" 54" = 59' 30°

- sin f3
By Law of Sines : LA ﬁb—- = b = q 'ﬁ.!]‘l'"L
sin o s B, < osin o
SVpy, SnBET36T o 09907 = 6]
T P ins0 a0 = 8Xgggrg = 58 % L10= 6149
P - siny
Arnin, siny ~ sinfp e P o= b';i;r[;

sin31'54° . 0528 '
sin8 36" = O15% ggoon = OLSx 0526 = 5251

Hence | a=50"30", b = 61.40.c< 32.51 |

= 6l5x
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